
��$�� ;���;�$�8���'.! (�� ���1��/� #. f : Rd → Rd! g : Rd → Rd×d, #20��#0� ;�
����$-! $���$& � �8�� #(�  �! ��0;� � �� 3� �4#� f(t, x), σ(t, x) = g(t, x)g
(t, x) ���,
%$��%��.-� �'$�%#- cB! �$. '��<�'�#(�'��8� �#33��� 4#�$& �8� ���% � #. A9B %�;�$ � �

� *�%�� S�� ��?�'�%��� �%�/��  �;����% � �#33��� 4#���0�. 3� �4#. V : Rd →
R+ ����.! (�� ∀x ∈ Rd

BV (x) =
∂V (x)
∂x

f(x) +
1
2
tr
(
∂2V (x)
∂x2

g(x)g
(x)
)
≤ 0.

S�$�/#0 MV = {x ∈ Rd| BV (x) = 0}. ���/�0! (�� '$�1�� ���� #�
(x(t),W (t),Ω,F , P,Ft) ;�# ��$�/#� 0 �/�'�%� MV , �'$#

∂V (x(t))
∂x

f(x(t)) +
1
2
tr(
∂2V (x(t))

∂x2
g(x(t))g
(x(t))) = 0

�$. (μ× P ),;�(�# %'�< (t, ω) ∈ R+ ×Ω.

������� �� �B C>BAG>QRB] GLITDHBHIVELKB] MLHB]VIOBLHI DB OEFB?HRBLHI� `MLHQ

aMRKdI? V (x) DB>B^IHE>QRB BDFEPE>ERRG? bBCPG RM>EOBE FEXERIE MFGORERI? �
� MLHB]�

VIOB DB OEFB?HRBLHI iL>I� KFBTE HBCB� V (x) → ∞ DFI ‖x‖ → ∞, TRB^ELHOB MV RE

LBPEF^IH RERM>EO[U L>GA[U FEXERI]� HB RM>EOBE FEXERIE C>BAG>QRB GLITDHBHIVELKI

MLHB]VIOB DB OEFB?HRBLHI 

�@��<'�=!�� A@#'%��!�� % #�'�=!�< %#�<�!�
��!�>!�> �����<�> @� �<�*'!!�<A
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�
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���

S���$�8���'. �� '�����#% �� 0���� ���� #. 2���(# �;�#0�$& �8� �;��%$� #. '� '0�,
��  �0 ��#���#�0 ��(�'�%�! '�'��%$�  �0 #2 �%�< ��#���#�% A1�'������'�%#� # 0# #,
0�0 � ��8##B� ����(� ��''0���#%���'. % �$�''� �#'���� �< �;��%$� #�� ��8�� ;�'����,
 #� �� ;��8��00 �8� ���� #. 0�/ � '%�'�# � ���� #- 2���(# �%�����#( �8� ;��8��00#,
��%� #.! ������� ��%#%�$� � � #'<�� �. 2���(� ;�# 3#�'#��%�  �� ;����$/#��$& �'�#
;��4�''� �;��%$� #.! �'$# �8� ��;�$ #�& �;�#0#2�4#�� ;� ���� ;����$/#��$& �'�#� S�,
'$�� -- 0�/ � �'�?�'�%#�&  �;��%$�  �0 ;���1���0 A' %�1��  �0 �����0B� �� �' �%�
���8� ���� #. '���#�'. 0���� ���$#2�4## �;�#0�$& �� �1��� �� '%.2# % ��/#0� ���$& �,
8� %��0� #� ����(# ;���1 �8� �#;� 0�/ � #';�$&2�%��& �$. '��1#$#2�4## �# �0#(�'�#<
'#'��0�

��''0���#0 2���(� �;�#0�$& �8� �;��%$� #. '� '0���  �0 ��#���#�0 ��(�'�%�

J(t∗, u) = αt∗ + (1− α)
∫ t∗

0
u2(t) dt→ min

t∗, u(·)
, ẋ = Ax+ bu, x(0) = x0, A9B

Hx(t∗) = g, |u(t)| ≤ L, t ∈ T (t∗) = [0, t∗],

8�� x = x(t) ∈ Rn ~ '�'��. #� �1����� �;��%$� #. % 0�0� � %��0� # t� u = u(t) ∈ R ~
2 �(� #� �;��%$.-?�8� %�2���'�%#. % ���� /� 0�0� �� x0 ∈ Rn ~  �(�$& �� '�'��. #��
b ∈ Rn! g ∈ Rm! A ∈ Rn×n! H ∈ Rm×n ~ ;�'��.  �� %������ # 0���#4�! rankH = m ≤ n�
α ∈ ]0, 1[ ~ 2���  �� ;���0���� L ~ 2���  �� (#'$��
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����(� A9B 0�/ � ��''0���#%��& % ��2$#( �< �$�''�< �;��%$.-?#< %�2���'�%#�� ���,
�#4#�  � #';�$&2���'. �$�'' ��'�( �, �;����% �< 3� �4#� A;����$& �0 �$. 2���(# A9B
.%$.��'. �$�''  �;����% �<! ��'�( �,8$���#< 3� �4#� �9�B� ���'& 2���(� A9B 1���0 ��',
'0���#%��& % �$�''� �#'���� �< 3� �4#� A(�'�� ���8� ��'����( �  � ;����#��B� �#',
���� �0 �;��%$.-?#0 %�2���'�%#�0 A' ;��#���0 �%� ��%� #. ν > 0B  �2�%�0 ��'�( �,
;�'��.  �- 3� �4#- %#�� u(t) = u(τj) ≡ uj! t ∈ [τj, τj + ν[! τj = jν! j = 0, 1, . . . �

S��8��00 �0 ���� #�0 2���(# A9B  �2�%�0 ;��� {t∗, u0}! '�'��.?�- #2 ���#< 0�0� ��

t∗ = t∗(0, x0) A5B

# 3� �4## A�;�#0�$& �� ;��8��00�B

u0(t) = u0(t | 0, x0), t ∈ T (t∗) = T (t∗(0, x0)), AtB

(��� 9B 3� �4#. AtB ���%$��%��.�� 8��0���#(�'��0� �8�� #(� #-� |u0(t)| ≤ L! t ∈ T (t∗)�
5B '���%��'�%�-?�. 3� �4## AtB ��������#. x0(t) = x0(t | 0, x0)! t ∈ T (t∗)! '#'��0� A9B
% 0�0� � A5B ���%$��%��.�� ���0# �$& �0� �8�� #(� #-� Hx0(t∗) = g� tB 0�0� � A5B #
3� �4#. AtB ��'��%$.-� 0# #0�0 ��#���#- ��(�'�%� 2���(# A9B� )B  � 0 �/�'�%� T (t∗)
�;��%$.-?�� %�2���'�%#� AtB .%$.��'. �#'���� �� 3� �4#�� ' ;��#���0 �%� ��%� #. ν�

S���$�8��0�� �$8��#�0 ;�'���� #. ;��8��00 �8� ���� #. 2���(# A9B! � ���/� �$8�,
�#�0 ���$#2�4## �;�#0�$& �� �1��� �� '%.2# % ��/#0� ���$& �8� %��0� #! �������! ���
#2%�'� �! '%��#�'. � ;�'���� #- ;��8��00 �< ���� #� '�0��'�%� 2���(

Jτ (t∗, u) = α (t∗ − τ) + (1− α)
∫ t∗

τ
u2(t) dt→ min

t∗, u(·)
, ẋ = Ax+ bu, x(τ) = x∗(τ), A)B

Hx(t∗) = g, |u(t)| ≤ L, t ∈ Tτ (t∗) = [τ, t∗]

Aτ ~ %��0. ���$& �8� ;��4�''� �;��%$� #.� x∗(t)! t ≥ 0 ~ ���$#2�-?�.'. ��������#.
�# �0#(�'��� '#'��0�! x∗(0) = x0B! �' �%�  � �$8��#�0� #2 �5� # '�'��#� % '$���-?�0�
��1���0  �������� A3#�'#��%�  ��B 0�0� � t∗ A���! (��1� ;�#%���  �.  #/� 2���(� AuB
;�# k = 0! x∗(0) = x0 #0�$� ���� #�B # 4�$�(#'$�  �� ;���0��� N > 0� S�$�/#0 ν = t∗/N
A;���0��� ν ~ ���� ��1��� ��8�$.���� ~ % ��$& ����0 #20� .�&'.  � 1����B� � �$�''�
�#'���� �< �;��%$� #� u(t) = u(jν) ≡ uj! t ∈ [jν, (j + 1)ν[! j = 0, N − 1! ;�# k = 0!
x∗(0) = x0 ��''0���#0 2���(�

Ikν(u |Nν) =
∫ Nν

kν
u2(t) dt→ min

u(·)
, ẋ = Ax+ bu, x(kν) = x∗(kν), AuB

Hx(Nν) = g, |u(t)| ≤ L, t ∈ [kν,Nν].

�;�#0�$& �- ;��8��00� 2���(# AuB 0�/ � ;�'���#�& �%��'�%�  �0 0�����0 �%����,
�#( �8� ;��8��00#��%� #. �t� A#';�$&2�. 3��0�$� ���#!  ����� � '3��0�$#��%��& ��%#,
%�$� � �- 2���(� �%�����#( �8� ;��8��00#��%� #.B� ����0! %��&#��. 0�0� � t∗ = Nν '
��8�0 ν A%��&#��. N  � ��# #4�B %$�%� # %;��%� �� ;��%� �(�$& � %�1��  �8� 2 �(� #. #
�������#��. % '%.2# ' ��#0 �;�#0�$& �- ;��8��00� 2���(# AuB A��0 /� �%��'�%�  �0 0�,
����0B!  ����0 ���#� 0�0� � t∗ A2 �(� #� NB # �;�#0�$& �- ;��8��00� u0

0(t) = u0(t | 0, x0)!
t ∈ T (t∗) 2���(# AuB! ;�# ������< ��#���#� ��(�'�%� 2���(# A9B ��'�#8��� 0# #0�$& �8�
2 �(� #.� S��8��00 �� ���� #� 2���(# A9B % %�1��  �< �'$�%#.< ;�'���� ��

��1��� ��8�$.���� ;� ;�'���� #- ���$#2�4## �;�#0�$& �� �1��� �� '%.2# % ��/#0�
���$& �8� %��0� # 2��$-(���'. % '$���-?�0� �;��%$� #� u∗(t) = u0

0(t)! t ∈ [0, ν[! ;���,
��'.  � %<�� '#'��0� A9B # ;���/���� �� '�'��. #� x∗(ν) = x∗(ν | 0, x0)� S���;�$�/#0!
(�� ��8�$.��� ;����1���$ % 0�0� �� 0, ν, . . . , (s− 1)ν! # '#'��0� A9B ���2�$�'& % '�'��. ##
x∗(τ) = x∗(τ | τ − ν, x∗(τ − ν))! τ = sν� � ;������?#� 0�0� � τ − ν = (s− 1)ν! ��8�� '#'��,
0�  �<��#$�'& % '�'��. ## x∗(τ − ν) = x∗(τ − ν | τ − 2ν, x∗(τ − 2ν))! ��8�$.��� �/� ���#$
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2���(� A)B ;�# τ = (s− 1)ν� �� �(���� �0 ��8� ��8�$.����  ��1<��#0� ;�'���#�& ���� #�
2���(# A)B ;�# τ = sν� �$. ���8� A� �$�8#( � �;#'�  �0� %���B '���#�'. �;�#0�$& �.
;��8��00� 2���(# AuB ;�# k = s # 2 �(� ## N ! ������� 1�$�  ���� � % ��2�$&���� ���� #.
2���(# A)B ;�# τ = (s− 1)ν! ' ;�'$���-?#0 %��&#��%� #�0 N � � ��2�$&���� 1����  ���� �
0�0� � t∗ A2 �(� #� NB # �;�#0�$& �. ;��8��00� u0

sν(t) = u0(t | sν, x∗(sν))! t ∈ Tsν(t∗) 2�,
��(# AuB! ;�# ������< ��#���#� ��(�'�%� 2���(# A)B ��'�#8��� 0# #0�$& �8� 2 �(� #.� C��
�;��%$� #� #';�$&2���'. ��8�$.����0  � ;��0�/���� %��0� # [sν, (s + 1)ν[� u∗(t) = u0

sν(t)!
t ∈ [sν, (s + 1)ν[�

��1��� �;#'�  �8� ��8�$.���� ;��8��00 � ���$#2�%� �  � .2��� c��! ;��'(#�� �.�
��'��%�< ;�#0���%�
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� ��  �0 '��1?� ## 0� <��#0 �1���#�& % #0� #�  � ��� 3���! (�� �$. #''$���%� #.
���< ��%�$& � ��2 �< ;� '%��� ;�#���� 2���( ~ 2���(# ��'$�/#%� #. ���$�  �8� �%#/�,
 #.! 2���(# #8��%�8� �;��%$� #. # 2���(# �# �0#(�'��8� %�''�� �%$� #. %<��� , 0�/��
1��& #';�$&2�%� ��# �� ;��<��! �' �%�  ��  � 0����� %';�0�8���$& �< 0���$�� �96t��
�����/���$& � '��& ��''0���#%��0�< 2���( '�'��#� % '$���-?�0� �� ;��0�/���� %��0�,
 # T 3#�'#��%� � ��% �0�� �. '���� Δ = {τi}mi=0! τi = τi−1 + δ! τ0 = t0! τm = ϑ� 	0���'.
 �������. '#'��0� Σ� �� ���� #� x(·) = x(·; t0, x0, u(·), v(·)) Ax(t) ∈ HB 2�%#'#� �� #20� .,
-?�8�'. %� %��0� # �;��%$� #. u(·) #  �#2%�'� �8� %�20�?� #. v(·)� "� �4#. x(·) ���/�
 �#2%�'� �� � 0�0� �� τi ∈ Δ 3�2�%�� '�'��. #� x(τi) #20��.��'. ' ��#1���� ��2�$&����
#20��� #� ~ �$�0� �� ξhi ! i ∈ [0 : m− 1] ~ ���%$��%��.-�  ���%� '�%�0

|ξhi − x(τi)|H ≤ h.

���'& h ∈ (0, 1) ~ %�$#(# � # 3��0�4#�  �� ;�8��� �'�#! H ~ 8#$&1����%� ;��'��� '�%��
7����� �! *���%���
 �!�*����>� �%�����
� S���;�$�8���'.! (�� v = v(t) ≡ 0!

t ∈ T � ���� � (#'$� ε > 0� 	0���'. ���$�  �� �%#/� #� g(·)! �;#'�%��0�� ��0 /� '��� �,
�� #�0! (�� # Σ! % ������0! �� ���! v ≡ 0! � u = u∗(t)� S�# ���0 ��� 3� �4#. u∗(·)! ��� #
g(·)  �#2%�'� �� 	2%�'� � $#�&! (�� u∗(t) ∈ D∗ ;�# ;�%� t ∈ T ! 8�� D∗ 2���  �� 0 �/�'�%��
� 0�0� �� τi ∈ Δ  ��.�� ' x(τi) #20��.��'. A' ��#1���B '�'��. #� g(τi)� ��2�$&���� #2,
0��� #�  ���( �� ���1���'. ���2��& �$8��#�0 3��0#��%� #. ;� ;�# 4#;� �1��� �� '%.2#
�;��%$� #. u = u(t) ∈ P ! t ∈ T ! �����! (�� ��������#. Σ �'�� ��'. ;�# %'�< t ∈ T %
��% �0�� �� ε,����'� �'�# ���$�  �8� �%#/� #.�

7����� ��w� !��>� >�������>� �(��%*���
� S�'�& 3#�'#��%� � P # Q ~ 3#�,
'#��%�  �� 0 �/�'�%�� ���� �  �;�'��� 0 �/�'�%� N # (#'$� ε > 0� ���1���'. ���2��&
�$8��#�0 3��0#��%� #. ;� ;�# 4#;� �1��� �� '%.2# �;��%$� #. u = u(t) ∈ P ! t ∈ T !
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